PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
8th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Indica is written by / ST P aGH %

e Kautilya / ﬁﬁm

® ChandraguptMaurya / ilﬂ'{[ﬁ i

® Megasthenes / AR

® Porus / Ry
Correct Answer :-Megasthenes / ARSI
2)

Question Stimulus :-

Where was the Ancient Olympics held? / U= sh?rﬁmav?‘r'arrq’ﬂ%ﬁrﬁo‘mw qr?
® Rome/ 39

® Greece/ AT
° Egypt/ﬁr\q
® None of these /37-1'1?[ ﬁﬁ'&‘ﬂ'ﬁﬁ

Correct Answer :-Greece/ g1

3)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fooe

g, ab sl R IR Re s F w2 -

If it is flash news, then it will telecast on the TV. / If¢ I8 I YA 7, ol ITST UGRUT ST W
foar s

e If it is not telecasted on the TV, then it is not flash news. / af¢ 39T YR ddt W 181 far
ST €, d 98 FolsT <GS Te1 5 |

()



e If it is not flash news, then it is not telecasted on the TV. ﬂﬁ g T ?Ffﬂﬁé, ar DI
TR A4l UR e fhan e 7

e If it is not flash news, then it is telecasted on the TV. /uﬁugu%srqy;rqﬁ%, ?ﬁm
TRl ) wR fHar Sar 21

e Ifitis telecasted on the TV, then it is flash news. 9®T YR &4} R farar wirar 8, < 98 v
g8

Correct Answer :-If it is not telecasted on the TV, then it is not flash news. / ¢ ST®T
TERoT St uR Y o s B, o g8 v g T8l 8l

4)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, .
share a common similarity while one is different. Choose the odd one out. / g uy ﬁ,

o UG & WYE @ T §, 5t 9, Faa T F SePy, TEM ¢ F6fE TP e § | foww @ g |
* PRT
e MOQ
¢ GEC
e TVX
Correct Answer :-GEC
5)

Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. The
rotator is rotating while the phone is on, then someone is definitely crying. / iR

W 3iT9 fohaT 4T €, a1 afe SIS a1 & a1 AeeX gHAT 81 BIF & 3iTH 811 W oq e IH ST 8, dl DI
SI%Y A TBT B

e False / Tdd

* True / gl

e Maybe / g IHdT 8

e Irrelevant / SUTHARIS

Correct Answer :-False / TTdd

6)
@)



Question Stimulus :-

Introducing a woman, a man said, “Her father’s only son is my father”. How is the man related to the woman? / T

gﬁwmuﬁméﬁ 8T, TH ATGH 7 g1, "39& a1 &1 swatar der 4 fiar g1+ 3iva T SieH! 3 awita
o Father/ﬁ?ﬂ
° Son/aET

® Brother/ ‘l-rl's:'

® Nephew / TSIl
Correct Answer :-Nephew / HSIT
7)

Question Stimulus :-

Keshav Jayanti Samaroh is held in ./ TG Sl W‘TR-']? _ﬁ 3mrafera forar Sirar %I
® Bhopal / wurd
® Dhar / R
® Orchha / 3BT
* Bhind / fHi®
Correct Answer :-Bhind / fiS
8)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea qﬁ-nz
it 3T T HU=Y ud el & 9k § 9 2

Statements: / 9YH:

All students are intelligent / It o 'g’@ﬂ'ﬁ %
Ramu is not intelligent / ?'I'&ﬁ'@'qﬁ qﬁ%
Conclusions: / e

I. Ramu is not a student / Tﬂl@'ﬁﬂ'&ﬁ%

II. Ramu has to go to school / Wﬁwwm%
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Only conclusion | follows / $ad f~repY I fredr &
Only conclusion Il foIIows/W forsed 1| freadar %
Both conclusion 1 and Il follows/'q;]:ﬁ ﬁnm:f I Gﬁ'{ II fpad %

e None of the conclusion I or II follows / Fepd I WII A A )5 8 FNPpaar g
Correct Answer :-Only conclusion I follows / $ad f=rspy I fereadr g

9)
Question Stimulus :-

Which Mughal emperor was defeated by Sher Shah Suri at Kannauj in 1540? /BT YT TSIT P 1540 T
FATS o, ] M T3 FIRT ST I4T U1?

® Akbar / {hd¥

® Babur / dTdY

° Aurangzeblm
® Humayun / §HTY,

Correct Answer :-Humayun / §HT,

10)
Question Stimulus :-

is called city of Nawabs. / P AaTS] PT XX BT Sdl %l

® Pune/ Hl'?f
® Lucknow / €TGAS
® Chennai /aﬁ_s:
® Agra/ 3RT
Correct Answer :-Lucknow / G713

11)

Question Stimulus :-

The Judges of Supreme Court retire on attaining the age of / '\Eﬁ'q PI¢ & AT H QHTW éﬁﬁ S %_I

® 62 years/ 62 CL
®)



® 65 years /65 CL

® 68 years /68 CL

® 66 years / 66 Y
Correct Answer :-65 years / 65 a4
12)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fawey ﬂﬁE
St fRE T $YH} vd fFrepul & 9 § 9l 2

Statements: / ®Y-:

All lawyers are doctors / Tt goia S ©

All doctors are engineers / g E\Wm%
Conclusion: / e

I.All lawyers are engineers / I4! a@Id SR &
II.All engineers are lawyers / 9 SeiifNOR a@ia &

® Only conclusion | follows / m forey 1 e %’

® Only conclusion Il foIIows/W foreed 1| fFreadan %

® Both conclusion I and Il follows/é’]‘ﬁ e 1 Gﬁ? II e %

e None of the conclusion I or II follows / Y I WM II A A B g1 Fpaar g
Correct Answer :-Only conclusion | follows / Bad e 1 feear g

13)
Question Stimulus :-

Who was the first Chief Minister of Uttar Pradesh? / 3R 'FI%QT% q‘sﬁ W ﬁq Q’?
® Govind Ballabh Pant / fa~c geaY U

e Kailash Nath Katju / $aT=T ATY HTes]
¢ Kanhaiyalal Munshi / Hoarerd 'E[Qﬁ

® Lal Bhahdur Shastri / ¢IT¢f d@lgy AL

(6)



Correct Answer :-Govind Ballabh Pant / Tfdg deaiy U=T

14)
Question Stimulus :-

If A+B means A is the sister of B and B+C means B is the brother of C, how is A related to

Eg.?/ I A+BFTASE P A, BRI T8 T B+C T 3f 2 fF B, C &1 4TS €, A, C T 59 TRe awifda
2

® Aisthe niece of C /A,Cﬁq-l?ﬁﬁﬁ%

® Ajsthe brotherofC / A,C &I 'H'I'g %

® AisthesisterofC / A,C @t dg %

® Ajisthe motherofC / A,C IR IGI %
Correct Answer :-Ais the sister of C / A,C $! 989 &
15)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 79 7% &, ug< <1 vl & v Wy ddy 2] Fry Aeeul § & 91 ug g et iR e &
1Y I PR BT HEY B

M:13::S:?

e 14

e 22

e 19

e 11
Correct Answer :-19
16)

Question Stimulus :-

Which word was added to the Preamble of the India Constitution in 1976? / I 9T Yoz 1976 H YR "fer=
P UXATaAT H SITST [T °T?

® Democratic/ ﬁ.\ﬁﬁ'ﬁﬁq

® Socialistic /'\"-l'FI'ITrlﬁ'Ié)f
(7)



e Secular / ¥ fFRUe
® Republic/ LUGE]
Correct Answer :-Socialistic /THTSIATGl

17)

Question Stimulus :-

Chhatrapati international airport is in which city? / EEUIG m@n Ea'lé' SIEl e LIRS s %?
® Mumbai / 'ﬂﬂ%
® Delhi / fawh

® Pune / QU

® Kolkata / BITRTAl
Correct Answer :-Mumbai / H93
18)

Question Stimulus :-

A call centre operates between India, Japan and US. Indiais 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 10 PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / T% Hid Je3
YRH, WU 3R AR®T ¥ i Taar 81 YR 12 62 3MRST A 3t 8, iR 6§ WU & 3Tt 7, 3R o=
6 e 3ARDT T M 81 YRT JIE 10 T9 A U 10 TS IP S Bl § Tafd AAHDT Gag 8 99 I I 8
O TP BT HdT 8 3R SUH a8 9 9 A T 9 T 9P HTH Hal e

A conference is to be held between US and Japan. How late can US initiate the conference with Japan given that it is an hour

long conference?/maﬁTw %W@W\mmﬁw %I ma@mw & 91y
B3 RY B Tl § fob HI3H 1 90 Al gI?

® 1PM US local time / GIUER 1 9 g T BT R T
® 2PM US local time / GHUGR 2 T91 g TH BT RITHHI T4T
« 3 PM US local time / QUER 3 ol g TH BT RIMT T

® 4PM US local time / XY 4 991  TH HT G G0

Correct Answer :-2 PM US local time / GIUgY za@rq\wmw'-ﬂnw

19)

Question Stimulus :-

(8)



A,B,C,D and E are five rivers. A is shorter than B but longer than E. C is the longest and
D is a little shorter than B and a little longer than A. Which is the largest river? /A, B, C,

DR EUTAGHI 81 A BIA B EIREA TN gICATH AA ¢ MR D,BA U BN MR A
A Wl 21 A TSt A i Wt 72

Correct Answer :-C

20)
Question Stimulus :-

For the Union Government in India to fall a no-confidence motion needs to be passed in / HIRd H og WHR RfRM

& forg a5l T sifare wreara uifvd oY A 9 BT @
* The Lok Sabha / WIGHHT
® The Rajya Sabha / ITSIHHT
® Both the Lok Sabha and the Rajya Sabha / a:ﬁ'FﬁT\‘TNT 3T ISTHHT
® Neither the Lok Sabha nor the Rajya Sabha /-1 I AT Gﬁ?qa TSTHHT

Correct Answer :-The Lok Sabha / @&dHT

21)
Question Stimulus :-

1. Eleven students A,B,C,D,E, F,G,H,I,J and K are sitting in the first row of the class facing
the teacher. / TRE BT A,B,C,D,E,F,G,H,I,] 3R K Rie@ &1 3k g fFu gu war #1 ugdl uflea # 96
gl

2. D is to the immediate left of F and is second to the rightof C. / D, F & T;R?[ET&TW% S C
¥ eIt SR AV R B

3. A is second to the right of E, who is at one of the ends. / A, E ¥ grfg-t &ﬁ?'\ﬁw A %, cll
i e RR W 21

4. J is the immediate neighbour of A and B and third to the left of G. / J, A 3R B &1 Adeaq
USRil § 3R G & I 3R A T B

5. H is to the immediate left of D and third to the right of I. / H, D % RA TR SRS MR I &
STt iR & T B

©)



Who is sitting in the middle of the row? / ifRT & 9 & B9 93T %?
e B
e C
e G
e I
Correct Answer :-1I
22)

Question Stimulus :-

Select the statement that is the negation of "If you like Black film, then you like

%\Ihite." / 99 BYT DY g St HST ufaarg € "afe MUl Hrell "ai WG €, df SUD! Hibe 1o
»

* You gon't like Black film and you like White / 3TUe! $Teil Ieixa UG a8l ¢ 3k b
TG

* You I%ike Black film and you don't like White / 3(TU®! ®Tell Idie UE g SR 3MUS! b gl
g

e If you don't like Black film, then you don't like White / Tf¢ 3TU®) HTell Taf<E 78] UHS
g, dI U e Ude gl &

e If you don't like White, then you don't like Black film / af¢ 3u®! Tbe 78] U¥c 8, o
TP HIell I 6l UdE &

Correct Answer :-You like Black film and you don't like White / 3{TU®! ®Teil Tai<a UG &
3R 3TUH! e T8l e &

23)

Question Stimulus :-

Who was conferred the Kalidas award for the year 2014-15? / | 2014-15 % IR
RHR A foae! gfa fosar T 312

e Mohan Maharishi / #igs agf¥f

e Ramdarash Mishra/ JTHGRRI Rram
e Mahesh Alkunchwar/ Hg¥ TAH AR
® Subhadra Kumari Chauhan/ §USTHHRI G

(10)



Correct Answer :-Mahesh Alkunchwar/ 98% TaGddR

24)
Question Stimulus :-

Where is the Gandhi Sagar Sanctuary located? / el IR AHIRVY Hei fRAIT 32

e Rewa /34l

® Jabalpur / SIdcIYY

¢ Mandsaur / ﬂ?&ﬁ'\"

e Son/¥H
Correct Answer :-Mandsaur / HGR
25)

Question Stimulus :-

Select the statement that is the negation of this statement "If you did not pay enough,

we will send you a bill." /W$maﬁgﬁvﬁw$mmuﬁam%"q%amﬁmm 'I;FIT'I'HT-I'@T
T, g9 smu®! Tw faa w1~

* You did not pay enough and we won't send you a bill / 34 Tafw YTa 81 frar ik g9
3mue! fod T YeiT

® You did not pay enough or we will send you a bill / 3T it Wqﬁmmﬁm
EEREQ

e If you paid enough, then we won't send you a bill / afe 3= Tl yra fear g, 9t gw
SAMUPT foa T8t Uoidl

* If you did not pay enough, we won't send you a bill / af¢ 3= i Yra 8 fHar g, g9
3ue! fae 81 i

Correct Answer :-If you did not pay enough, we won't send you a bill / af¢ 3 ygiw
YT 8l foran 8, 89 3Mus! faa gt ¥eltt

26)
Question Stimulus :-

‘Captain’ is related to ‘soldier’ in the same way as ‘leader’ is related to / ‘P &Il-" Tafea % ‘Rugt’ T I UoR o
TSR ‘ar 39 d6fia &

e Chair / FET

(11)



® Follower / R

® Party / Tt

® Minister / ot
Correct Answer :-Follower / IRr&1
27)

Question Stimulus :-

Dice contains six letters from 1 to 6 on its six faces. Two Positions of Dice are shown below: / 13I'Iﬁ > 6 tb_clﬁ ®

FW 1 AP 6 &R 3fpd & U P & awIT¢ 1 fearsg 78 §:

(i)

Which letter lies at the bottom face of the dice (ii)? / UT_ET (ii) F e oo & SFW P9 A =& siferd %?
e 2
e 3
¢ 5
¢ 6
Correct Answer :-2

28)
Question Stimulus :-

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T is the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / Uy e P,Q,R,S AT
21 399 QA TP Pedid At 8, TP e st 8 ok U gia! faarst 81 P 3R s sifqaifed afgant §
3R el Qo # R 81 At €1 579 | BIg WY AT Ik a1 Beard A6 Wad! 21 T faifed ser @
ord T ufa 81 Q, R &1 WiE & 3R 7 &€ Wk f@arsi 8 7 &) gio! [t

Who is the chess player? / T3S &7 QS ®IF 82

(12)



Correct Answer :-T

29)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been nhumbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / &I & AARYT &R 1 33 T §| UAS S1&R B T=mfera far mar §] a8
e g <t arde Tsg 3 [T & o d=mell & FU H 3eRT BT 9El B A odl 7

ALIREMC

1234567

* 6,3,4,1,7,2,5

* 6,51,4,7,3,2

e 7,4,5,1,6,3,2

e 7,54,1,6,2,3
Correct Answer :-6,3,4,1,7,2,5
30)

Question Stimulus :-

Which of the following airports in Jammu and Kashmir is called Sheikh-ul-Alam Airport? / \_rl'ﬂl-ﬂ?ﬂtn? H

Frrafafed sarg orgl & ¥ o9 91 AT-Id-3MTeH 8918 31T el Sdl 82
e Srinagar Airport / SFVIR §aTs ST
* Kargil Airport / BRI gaTS SIS
® Poonch Airport / US §aTS 33T
* Jammu Airport / W% §dT§ 37T

Correct Answer :-Srinagar Airport / SR gars STgl

31)
(13)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁq
i fRE 7T $YHY vd el & 9 § 9 21

Statements: / ©YH:

Some chocolates are brownies / 9 glPpac TS 8
All brownies are gems / G4l FI31 &7 &
Conclusions: / fm:

I. All gems are brownies / H‘lﬂﬁ'ﬂm%

II. Some gems are chocolates / $& W AIHAC &

® Only conclusion | follows / Fad frspd I Aeadr %

® Only conclusion Il follows /aﬁlﬁ e 1 e %

® Both conclusion land Il foIIows/?ﬁ:ﬁ foremd 1 Gﬁ? II ﬁﬁh_c‘la %

® None of the conclusion I or II follows / frpd 1 a1 11 ﬁ'ﬁﬁé Hﬁm%
Correct Answer :-Only conclusion Il follows / Fad ey 1| freadar %

32)
Question Stimulus :-

In the first battle of Panipat, who was defeated by Babur / UrId & UdH Y& # TR § $F W4 B3IT UT?
® Prithviraj Chauhan / Q2RTST AEM
® Timur / a'lI\r
e Tbrahim Lodhi / SSTIeH @<t
® Qutub Khan / $dd Wl

Correct Answer :-Ibrahim Lodhi / SSTgH alelt

33)
Question Stimulus :-

Babita Kumari was conferred with the Arjuna Award in 2015 for her achievements in . 12015 ¥ gfedr

PRI B o Iuatsd & o s e fear mar ami

(14)



® Boxing / IR

e Archery / dRgREIt

i Wrestlinglgﬂ?ﬁ

e Ball Badminton / ST 9S{¥He
Correct Answer :-Wrestling / =l
34)

Question Stimulus :-

Sex ratio in India refers to / HTIRd & fofi SIJurd ﬂT:g‘ﬁ-f?f CXGI) %:
® Number of females per thousand males / Ufd 89X W TR gfgarsi & I=n
® Number of males per thousand females / ufa FSSIES 'FI'%ETB'ﬁ L C3 H?Gﬁ B =T
¢ Number of male children per thousand males / ufe WWW = (Fls_'ﬁ) CAR:EC)

® Number of male children per thousand females / ufd R TI'I%FITGﬁ T (?I?;Tlﬁ) P ST

Correct Answer :-Number of females per thousand males / ufa GSIES HFN-'\[ L'Cy F%ﬁTGﬁaﬁ =T

35)

Question Stimulus :-

Richard is fifteenth from the front in a column of boys. There were thrice as many behind
him as there were in front. How many boys are there between Richard and the seventh boy

from the end of the column? / RAE ds®! & Te WA & M1 J U5gd WH W g1 S9& NIy a9 A
eI ds& e I fora" ST I T2 ¥ ©™ & 3id I 94 ds@ 3R REE & d9 frda ds& @ 82

e 33

e 34

e 35

e Data inadequate/ YT STHHRY
Correct Answer :-35

36)

Question Stimulus :-

(15)



The R.B.I. does not transact the business of which of the following State governments? / fada P I
TXHR P HATIR BT Ja e R, 3T TS PIdTl 82

Nagaland / AN S

J & K/ S0 HIAR

Punjab / GSITd
® Assam / 3dH

Correct Answer :-J & K/ 8% $HR

37)
Question Stimulus :-

Who became the first Indian to win two medals at the same shooting World Cup? / Wa IERIEEIE ﬁwq |

3l USSP Sild aTd Ugd YR B 82
® Gagan Narang / TR FIRAT
® Abhinav Bindra / 3fH-g fogr

® Rajyavardhan Rathore / ISugdH ISR

® Gurpeet Singh /'{R'l'n_d Rig

Correct Answer :-Gagan Narang / TR AR

38)

Question Stimulus :-

In the following diagram. / % snefa o
e Circle S stands for households having a scooter;/ 9 S ¥hcX a1t TRaR & fore 81
e Circle T stands for households having a TV set; / g9 T <. d1 91 tRaR & fe g1

¢ Circle W stands for households having a washing machine; / 99 W gﬁ'li IF 91 URaR &

e g1
« Circle C stands for households having a car. / 33 C $R didt URaR & forw 21

Note: The different numbers indicates the non-over lapping reglons For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / & d: TX HdAR &F P AT GBI SR

Fal 81 IS’ & forg, s WW% aamr 1,11,12,8,9,10 3R 61

(16)



Households having only a TV set and washing machine are given by the / %aa .4 iR §ars

e Region 13 / «‘9’9[ 13
e Union of regions 7,8,12 and 13 / &Y 7,8,12 3R 13
e Region 12 / &3 12

* None of these / Hﬁ's‘ﬂ'(ﬂ

Correct Answer :-Region 13 / &3 13

39)
Question Stimulus :-

Which festival is held in the third or fourth week of the month of February every year? / I T @Fﬂ B Hrld

THIA! F HE A TR a1 9 Twre | S foan Sar 82
® The Bhil festival / ‘l-ﬁ?lﬂﬁ?'l'\"
® The Madai festival/ 'FI'I% ?\'ﬁ?ﬁ

® The Bastar festival / awaﬂ'sw

® The Khajuraho festival / @'\_{R'l—Ev;T Rﬂ?ﬂ

Correct Answer :-The Madai festival/ HT¢ TIEIR

40)
Question Stimulus :-

Which sacred town is nestled in Northern Vindhyas? /tlﬁﬁ RIS k| I faem o g97 %?

(17)



® Chitrakoot / ﬁm
® Sanchi/ it
* Ujjain / I
® Shivpuri/ ﬁﬁgﬁ
Correct Answer :-Chitrakoot / REA®e

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-
If "C.4 ="Cs, thenn =2 /3RGNC; ="C5, A n="2
e 10
°* 14
* 12
e 18
Correct Answer :-12
2)

Question Stimulus :-

The average runs scored by a batsman in 20 innings is 35.How many runs should hg score
in the next innings so as to increase his average by 4 runs? / UT&® FeeraTel gRT 20 UIival § §91
T4 3T 3 35 & 39 3rTell U # fbaq 39 TR &1 T1fdv o 39«7 3id 4 31 ¥ 9¢ wi?

* 119
® 120
* 118
* 121

Correct Answer :-119

3)

Question Stimulus :-

(18)



A and B appear for an interview for two positions in the same company. The probability of A’s selection is 1/7 and B’s is

1/5. What is the probability that none of them will be selected? / & SFIGATRI A 3R B & TP &1 U1 § &f fefFaal
F U Uee gd &1 A & T B THTGT 1/7 § 3R B P T B AHTIAT 1/5 ¢ 1 FTIHTIT g fr I=H 4
fo<ft o1 T =) o sraem?

* 24/35

* 26/35

* 21/35

* 11/35
Correct Answer :-24/35
4)
Question Stimulus :-

In a certain code COUNTRY is written as BPTMSSX. How is YELLOW written in the code? / fored @ g ois 'ef,

COUNTRY ! foRaT SITdT € BPTMSSX | 39 PIS H YELLOW I Hd T SiTaT 82
® RNBTTO
* MYNFYM
® XGLNOY
® XFKMNX
Correct Answer :-XFKMNX
5)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AW &R A F@aT B R BIfT :

DE, IJ,NO, ___ , XY
e QR
* RS
e PQ
° ST

Correct Answer :-ST

(19)



6)
Question Stimulus :-

In the sequence shown below, which figure comes next? / A9 fRER T H9 # 3FTE! P fa
P d gz

Correct Answer :-

7)
Question Stimulus :-

Two bicycles are sold at Rs 1920 each. On one, he earns a profit of 20% and on the other; he incurs a loss of 20%. What is the
overall result? / &Y AR [P d 9P dl @ U@ 1920 FUY A| TH W I8 20% ATH HHAMT 8, Td TP 3 T I8
20% @1 g IBTd1 8| o e ulkom w82

® 4% loss / 4% BN

® 4% profit / 4% CTH
(20)



® 2% profit / 2% <ITYH

® No profit, no loss / T ETﬁ, AT |d1H
Correct Answer :-4% loss / 4% &I
8)

Question Stimulus :-

The runs scored by Muttiah Muralidharan in six one-day matches were 47, 56, 112, 28, 59 and 34. What was his average
score? / B8 TP fGaxiia Al § QAT YRR §RT §I1T 1T ¥ 47,56, 112, 28,59 TG 34 | IHT 3id
R FIT U2

® 54

® 55

® 57

® 56
Correct Answer :-56
9)
Question Stimulus :-

What is the minimum number of straight lines needed to build the following figure? / IGE]

SATHId BT T & o gaw wen | fea-T et Yarei o smaxaswar grit?

N

°
N & »u b

(21)



Correct Answer :-6

10)
Question Stimulus :-
A pipe can fill a tank three times as fast as another pipe. If both are opened, the tank is full in 18 min then
the slower pipe alone will be able to fill the tank in / T® sy TH <P B §'\"-ﬁ' ISy B 3rdem AT RIG I Gl
J W gHdl 21 AR N 91 O A o, @ ¥ 18 fiFe § R omar ?, i o iy aren urdu ¥ &) s
9§ WR IR
e 72min / 72 fiFE
e 75min / 75 fAe
* 80 min / 80 fA=Ie
e 82min / 82 fiFe
Correct Answer :-72 min / 72 f4 e
11)
Question Stimulus :-
What will be the next term in the series / ﬂ@?ﬂﬁ' ST Uq T ETTIT?

¢ E g i K mo, ?

°q
°P
* r
° Q
Correct Answer :-Q

12)
Question Stimulus :-

What is the difference between smallest 5 digit number and largest 3 digit number? / T DIt 5 3P B WA
3R I T¢I 3 3fh BT AT & 1 BT 3R T BRI?

® 10000
® 9999

* 9001
(22)



® 9000
Correct Answer :-9001
13)

Question Stimulus :-

Find the value of x and y if x+y=6 and 4x+7y=36. / x 3R y &1 a9 A& afd x+y=6 3R
4x+7y=36]

e 2,4
° 4,2
e 1,1
e 00
Correct Answer :-2,4
14)

Question Stimulus :-

A reduction of 20% in the price of rice enables a man to buy 10.0 kg more for Rs.100. What is the price of rice per kg? /

ITad Pt B H 20% B HHI S BRI TP AMTSHT 100 TUC H 10.0 FHUT 31w grae @ite U & J&H B
ufa fp3T araa &1 Srad |1 82

® Rs.2.5/2.5%0C

® Rs.2.00/2.00 $UT
® Rs.2.75/2.75 %00
® Rs.2.25/2.25 UQ

Correct Answer :-Rs. 2.75/2.75 3UQ

15)
Question Stimulus :-
Find the odd one out / [dUH I=IT J1d PifoE:

8,12, 16, 32, 35, 40
* 32

* 35

(23)



e 12
° 40

Correct Answer :-35

16)
Question Stimulus :-

If ‘RAM IS A GOOD BOY’ is coded as JUQ SV U RZZL KZN’, then ‘YOGA'’ is coded as / 'Q'% ‘RAM IS A GOOD BOY’ &I

JuQ sV U RzzL kzN' | HIfSd fomar SITaT 8, @1 ‘voea' $i T Sifsd fam s
e NZKL
e ZORU
e NZRU
e UZNR

Correct Answer :-NZRU

17)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 9 33 0 IR vl & ¥ 9 A T 1a & i I9H o9 91 v 5l 22

His Royal Highness The Prince Of Wales,
HRH The Prince of Wales

Clarence House

London SW1A 1BA

(i) His Royal Highness The Prince Of Wales,
HRH The Prince of Wales

Clarence House

London SW1A 1BA

(ii) His Royal Highness The Prince Of Wales,
HRH The Prince of Wales

Clerence House

London SW1A 1AB
(24)



(iii) His Royal Highness The Prince Of Wales,
HRH The Prince of Wales

Clarence House

London SW1A 1BA

(iv) His Royal Highness The Prince Of Wales,
HRH The Prince of Wales

Clarence House

London SW1A 1BA

Correct Answer :-ii

18)
Question Stimulus :-

In the ratio 1:3, what positive number should be subtracted to make the ratio

5:4? / 5:4 U 991 & A€ 1:3 & GUTd A F P9 Al YIS BT g™ A13T?
* 11
° 12
* 10
® 3
Correct Answer :-11
19)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / & &I ¥ G ieRl T @IS BT IHH WANT Bl §| Tod Hale ygar-d|

(i) IQ235698P9T4
(25)



(ii) JQ235698P9T4
(iii) JQ235698P9T4
(iv) 1Q235998P9T4

° i

e ii

e iii

* iv
Correct Answer :-iv
20)

Question Stimulus :-

The printed price of book is Rs. 320. A retailer pays Rs. 244.80 forit. He gets Successive discount of 10%
& another rate. What is the second rate? Imﬁ[ﬁﬁ@ﬁ&ﬂr 320 I g1 T Wﬁaﬁﬁgﬂ% ferg 244.80
T BT YA BT 31 S 10% 3R 3 G B AR ge fHadt 81 g R AT e?
* 15%
® 20%
® 25%
® 30%
Correct Answer :-15%
21)
Question Stimulus :-
Complete the series choosing the missing number: / AW IWAT FAHR SGaT B TR B :

3,18, 38, 63,93, 128,

® 148

* 138

®* 140

® 168

(26)



Correct Answer :-168

22)
Question Stimulus :-

A train is 180 m long passed a pole in 24 second. How long will it take to pass a platform 255 m long?/ 80 I @it Th

7 9 Y & 24 The § IR {11 255 € T WeHTH B TR F3 | DI fhaar I0d T
* 55sec/ 55 UDS
* 50sec/ 50 Hbs
* 58sec/ 58 HS
* 52sec/ 52 BT

Correct Answer :-58 sec/ 58 Ghg

23)
Question Stimulus :-

The sum of two numbers is 2400. If 9% of one number is equal to 7% of the other, then the numbers are/ a ﬂ'@ﬂsﬁ'
BT AR 2400 B | TTS TH BT BT 9% GET BT & 7% P GRT6R g, 91 GBS

® 1050, 1350
® 1000, 3000

® 2800,1200

® None of these/ ?El'ﬁ ﬁaﬁ's‘ﬂ'eﬂ

Correct Answer :-1050, 1350

24)
Question Stimulus :-

In a certain code ‘Clean the board’ is written as ‘wega so pola’ ; ‘Board is black’ is written
as ‘tem wega lo’ and 'Very clean room’ is written as ‘clas so poka’. In that code the word
for ‘Board’ is: / &l @ IS HIUT ff, ‘Clean the board’ &1 " wega so pola’ feran \_:TR-IT% 3T
‘Board is black’ &1 ‘tem wega lo’ 3R ‘Very clean room’ ®I ‘clas so poka’ forar sman %l It
®Is UM H ‘Board’ %%EW%:

® poka

(27)



® pola

® wega
Correct Answer :-wega
25)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, @I 4@ # TP US TAd & TAd Ue ¥ BifoA| 1,3,7,15,31,64

e 15
e 31
e 64
e 1
Correct Answer :-64

26)
Question Stimulus :-
Two trains each 250m long are running in opposite directions on parallel tracks. Their speeds are 45kmph and 40kmph
respectively. Find the time taken by the slower train to pass the driver of the faster? / E’f aﬁ, ?I?aﬁ | ?Iﬁ'l'sc 250
ez B, uiar veival wR faudta fazmei & e 38} &1 37 wfa pu=T: 45 fpefi/er siiv 40 forei/eer 81
it 7ifer & =@ 38 S GRT AW e areHl o & ST5aR Bl UR B 6 T ardl IHT J1d B2

® 20sec/20 AHS

e 20.2sec/20.2 AHS

e 21.2sec/21.2 8PS

* 22sec/22 P

Correct Answer :-21.2sec/21.2 9$S

27)
Question Stimulus :-

8x3-7x2+100x0=?

e 34

(28)



e 10
e 20
e 0
Correct Answer :-10

28)
Question Stimulus :-

In a certain code ‘Only common ground’ is written as ' Mono tono gono’; ‘All common
people’ is written as ‘'tono pla cole’ and ' give them all’ is written as ' cea pla tabool’ .
In that code the word ‘'cole’is used for : / f&dl @ ﬁ?;ff, ‘Only common ground’ﬂ?f !
Mono tono gono’ {i=a1 ST & ; “All common people’ &1 'tono pla cole’ for@l i dT § 3R * give
them all’ &1 ' cea pla tabool’ o < 8| I ®is H q 'cole’ T WANT 3HS forW o rar 8:

® them

® only

® ground

® people
Correct Answer :-people
29)

Question Stimulus :-

In a code, DEAR is coded FCCP, GOAT as IMCR and LAMP as NYON. How is PART written in that code? / T ®18 H, DEAR BI

FCCP, GOAT @1 IMCR B4 LAMP &1 NYON orad &1 St P18 # pART BI 1 far@?
® NPRY
* NRPY
* NYRP
* NYPR

Correct Answer :=-NYPR

30)

Question Stimulus :-

(29)



| s

There are 550 students in school, = of them are girls. Find the number of girls.
Also; find the fractional part of boys in the school. / T& fdgmed # 550 B €, 399
3

¥ 7 wsfeut ¥ aefeal @ v e o R § ae®) BT ik Hi RreRe |

U | o=

| ko

(IR VT

wh | o

Correct Answer :-

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Use the following information to answer the question / U4 & 3™ ¢4 & faw i & 18 s9aRt
BT TN B

Marks scored by students / Bl gRI U 3i®

8l Mame / 5T Marks
Ma. / e/
G
1 Suresh ,GCB'QT 221
2| Patil/TEw 212
3 | mahesh / AgeT 309
4 | vinay / T@srT 281
® | Sandeep /HeM 323
6 | Bingd / THwilE 239
7| Naresh /\r 255
8 | layanth / Srid@ 321
° | Ssema /T 295
10 | pavan /@aw 277

(30)



What is Mahesh’s Ranking?/'FI%'QT DT RYTT =T %?
e 4
e 5
e 6
e 3
Correct Answer :-3
2)
Question Stimulus :-

Find the volume of a cylinder of radius 3 feet and height 1 feet. / 3 Hic BT 3R 1 Wie $3 a9 &1 mad

[FEQISIY
e 3"cubic feet / 3" g i
® 6" cubic feet / 6" FUmd wie
e 9" cubic feet / 9" 34T Wi
e 24" cubic feet / 24" U Wi
Correct Answer :-9” cubic feet / 9 Aurd wic

3)
Question Stimulus :-

Use the following information to answer the question / ¥ & 3R ¢4 & forw 9 &t 18 sHeRt
BT WA B

Marks scored by students / S gRI UTW 36
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sl Mame /[ #TH Marks
MNo. / 3R/
o
1 | suresh /g¥er 221
2 Patil / e e 212
3 Mahesh / F&3T 308
4| vingy/ @ 281
2 | sandgep /HeM 323
6 gmgvfﬁaﬁg 239
7| Naresh /7 255
B | dayanth / wd i
° | Sgema/EET £33
10| paygn /A 277

If in revaluation Naresh gets 29 more marks, his ranking will reduce by / 'Clﬁ g=|\_r|ﬁ|' H T 29 3 3ffew U
BT § a9 ISP VI fFaq F ue e

e nil

e 1

o 2

e 8
Correct Answer :-1
4)
Question Stimulus :-

An audible sound is produced by a vibrating object with a Time Period of / T Teaie a¥] gRTUD JH
gy qUarary § 3dd g

e 0.2 seconds / 0.2 JAHUS
® 0.3seconds/0.3 APV
® (.04 seconds / 0.04 JqHUs
® (.05 seconds /0.05 JdHuS
Correct Answer :-0.05 seconds / 0.05 IHUS

5)
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Question Stimulus :-

A sum of Rs. 2,400 amounts to Rs. 3264 in four years at a certain rate of simple interest. If the rate of interest is increased by
1%. The same sum in the same time would amount to. / 2,400 & B AR IR 9ul # fhed} AYRY U & IGIEG]
W W 3264 T Bl ST €1 S TSI BT R 1% 9¢ WA, 99 T&] YRI I 9T § g1 99 St

® Rs.3,340
® Rs. 3,360
® Rs.3,312
® Rs.3,288

Correct Answer :-Rs. 3,360

6)
Question Stimulus :-

The sum of the digits of a two-digit number is seven. By interchanging the digits it is
twenty seven more than the original number. Then the original humber is

3] 1 TP WS F 3! BT URT A g1 3D BT SHdld-7Y B T o T F 27 a%mqa
Gies gl
* 20+5
* 20+5
* 20+-5
* 20+-5
Correct Answer :-20 +5
7)
Question Stimulus :-

The function of cerebellum is / aa*:rl%lw &1 B %

® Muscular co ordination /ﬂ&'ﬂu g JHdg

® Memory / '\‘Tjﬁ'

® Sensation of smell / T[¢[ BT aqéaq

® Speech /dIP
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Correct Answer :-Muscular co ordination / =i e JHH49g

8)
Question Stimulus :-

Use the following information to answer the question / U4 & 3R &1 & forw 9 &t 18 wHoRt
BT TART B

Marks scored by students / SEI gRT U 3i%

al Name /¥ T5 Marks
MNo. / 3R/
w
1| suresh /g¥er 221
2 Patil / e 212
3 Mahesh f T 309
4| Mingy/ T 281
> | Sandeep /WEM 523
6 | Bingd / WeE 239
7 | Naresh /#¥ar 255
8 | layanth / orid 321
° | Szemma /T &
10| pavan / aw 27N

Who scored the first Rank? / TopE_ TUT R UTed fomam o

e Suresh /'{R‘-‘d

* Mahesh / 7RI

e Sandeep / g

* Seema /HHT
Correct Answer :-Sandeep / Tda
9)

Question Stimulus :-

Evaluate 313 * 313 + 287 * 287 / 313 * 313 + 287 * 287 &I M A&IdQ
® 180338
® 180438

(34)



® 180348
® 360678

Correct Answer :-180338

10)
Question Stimulus :-

Find the sum of all prime numbers between 80 and 100 / 80 3R 100 & 19 Bt I 31 F@el &1 ﬁﬁﬂm
® 340
® 269
® 350
® 356

Correct Answer :-269

11)
Question Stimulus :-

Which of the following is NOT a cyclone? / ﬁl’H o ﬁ ﬁ:[ gehdld T'Iﬁ %?
® Hurricane / YHSH
® Typhoon / 3
o willy-willy / ferett foreit
L Tsunami/ﬁqTFﬁ

Correct Answer :-Tsunami / g-TH!

12)
Question Stimulus :-

A Periscope is based on the principle of successive reflections from / Tdh Uﬁ?{?ﬁ F IR WTaaT
¥ fagra w enurfya 3

® Two concave mirrors /'cff Sddd ECfUT
® Two convex mirrors /Eff 34 E"CfUT

® Two plane mirrors /33f U gUoT
(35)



® One concave mirror & one plane mirror / T 3ddd ECfUT 3R Udh JHdA E&UT

Correct Answer :-Two plane mirrors /ff TJHTA ElfUT

13)
Question Stimulus :-

Musical Instrument Flute produces sound using / dT<l LE] El'l'{[ﬁ T STINT B taf~T IaA Bl %
® Membrane / Bdl
® String /dIR
® Air column / dIg &
® Hollow pipe /@@T’ﬂ et
Correct Answer :-Air column / 91 &
14)

Question Stimulus :-

Find the radius of the sphere, which has a surface area of 5544 cm?2. / & TMa® 31 fHsar w1, foras UL} PEL IS
5544 A2 §1

® 441 cm
® 21lcm
® 54cm
® 38cm

Correct Answer :-21cm

15)
Question Stimulus :-

What is crop rotation? / T[T 3T+ T %?
® |t’s a process of growing crops in the field. / 9% 8;']3[ A wadl & adq o ufekar %I
® Same crops are grown in the field. /E'ﬂ'ef THE B fail' A It wIret %.I
® Different crops are grown in the field. / sw?r fafty wad &3 # STl STt %l
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® The crops grown in the field are alternated with legume crops in order to increase nitrogen fixation. /HE@TIF[

gﬂmﬁq@$maﬁﬁmaﬁmﬁwﬁ%mﬁwmwﬁ%muw
ST

Correct Answer :-The crops grown in the field are alternated with legume crops in order to increase nitrogen
fixation. / ATgeIo TIRIBIHI0 B gfg & fow & #f IS oM arelt woal & HH ® Bal el Baal &
1Y THiax foar ST

16)
Question Stimulus :-

Separation of good seeds from bad is done by YARCHE) el # 9 oS el DT YYFHRUT
SO gRITpaT ST e

® Hand picking / gd I

® Winnowing / B C®hHT

® Soaking in a container / QT o fAmT

® None of the above/m x| '\&aﬁ%qﬁ

Correct Answer :-Soaking in a container / UTd o fuT

17)
Question Stimulus :-

Use the following graph to answer the question / ¥ F IR aﬁ * ﬁlﬁ = ﬁq T TP BT TIRT B3

Number of Students in School

Class 10
28%

BN, Class @
. 37%

Class 9
6%

If the school has 200 students, how many students are there in Class 9? / ?T% faemera & 200 faemadf %, dd DET 9
# faenfiy &) de feast 32
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e 74
e 65
e 52
e 70
Correct Answer :-70

18)
Question Stimulus :-

The function of the centriole is / ARG BT ib‘l?f%
® Formation of spindle fibres /H@Q’S{IT &1 femafor
® Formation of cell wall / BT fUfRT &1 foraior

® Formation of lysosomes / TR BT femtor

® Formation of food vacuoles / T<l m\’rﬁ Gl ﬁITI'fUT
Correct Answer :-Formation of spindle fibres /?Ié?w &1 feafor
19)

Question Stimulus :-

Which of the following statements is WRONG? / {11 & & BT 1 H¥U= TTerd 72
® |n sea breeze, wind blows from sea to land /'\‘l'ﬂ'sa iR ﬁ, qrg 9« q 'ﬁ[&l CARC T EI—E»'?ﬂ' %I
® In land breeze, wind blows from land to sea / Y& THIX ¥, qaig Q;[&I' q qJYx FI 3R Tt 3
® Sea breeze occurs during night / Wﬂ_s?f TR Id & ?:aTI_"T '&ﬁ’cﬁ %I

e Land breeze occurs during night / Y& T9R I & SR gl 21

Correct Answer :-Sea breeze occurs during night/'\‘:l'ﬂﬁ JHR I1d & T:aTI_"f ﬁ?ﬁ %l

20)
Question Stimulus :-

The image of an object lasts on the retina of our eye for / T d¥q BT yfafds garst 3@ & ¥ R foraq
T q% IgdT 82

e 1/8second/1/8 APUS
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e 1/12 second / 1/12 AHUS

* 1/16 second / 1/16 AHUS

e 1/20second/ 1/20@?03'
Correct Answer :-1/16 second / 1/16 GPUS
21)

Question Stimulus :-

In the given figure, OA and OB are opposite rays, find the value of x / é’rﬂ%‘ &Wﬁ ﬁ, OA 3
oB faudia f<vl §, x &1 7 Mg

® 60°

e 40°

e 70°

e 50°
Correct Answer :-50°
22)

Question Stimulus :-

A slide observed under a microscope showed a cell in which the nuclear material were
assembled in the Centre of the cell. The stage of mitosis seen is / TP Fﬂ%?s’ﬁ

JeeRit & Sianfa e F31 R TF SIRGT &) axidt 8 o Fge verd «IkeT & g d afdfaa A1
HHGAV $1 T8 Q@I TS 3aRATE

® Anaphase / UYTdRII

® Metaphase / AR

Prophase / qpf?mn

Resting phase /ﬁm UTaRIT
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Correct Answer :-Metaphase / AHAXT

23)
Question Stimulus :-

The method of using electrolysis in the refining of impure metals is called / 3R[& ‘E.I'I'g'\’rﬁ % ufvsmor #
fagaa eruge & w1 @ faft wgard §

® Electrolyte /ﬁgﬂﬁ STUU
® Electro refining / ﬁ'g'ﬂ?[ gisHur
® Electroplating / ﬁg’fﬁ AU
® Electrification /ﬁg’iﬁﬂWUT

Correct Answer :-Electro refining / fagad ufvssor

24)

Question Stimulus :-

If the price of tomato increases from Rs. 6 per kg to Rs. 7.50 per kg, a person, to have no increase in his expenditure on
tomato, will have to reduce his consumption of tomato by: / ?-Tf% CHICY T HT 6 F/ﬁﬂ"ﬁ' ¥ 7.50 ?K/ﬁ"—(ﬁ de
ﬁﬁrg%, at T gl o THTeR WR frw A W A FIs gies el AT, B UHT SHIER $t WUd a4 I geHT
® 15%
® 30%
® 20%
® 25%
Correct Answer :-20%
25)
Question Stimulus :-

An angle is 16° more than its complement, find its measure. / Th BT 3 PRED T 160 TP %, IIDRT HIY
BCAIN|

e 53°
o 74°

® 63°
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e 37°
Correct Answer :-53°
26)
Question Stimulus :-

During electrolysis the positively charged ions move towards / ﬁga'cr 3Uged & ?ﬁ?ﬁr ¢ SRR M=
B 3R ST ®

® Anode /QT-ﬁ’e'

® (Cathode /%?h_er

® Battery/ CLRi|

® Walls of the container / UTA @t m
Correct Answer :-Cathode / S
27)
Question Stimulus :-

Use the following graph to answer the question / U¥ F IR aﬁ' & ﬁnz H= ﬁ'({' T YTH BT TONT B9

Mumber of Students in School

Class 10
28%

o Class d
o 7%

Class 9
35%

If the school has 200 students, how many more students are there in Class 8 than class 10? / ﬂﬁ' faeme™ ¥ 200

faendf § a9 Pam s # faenRiaY & de wam 10 ¥ fra-t arfyue 82
e 32

e 31
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e 18

e 17
Correct Answer :-18
28)
Question Stimulus :-

The fusion of male gamete and female gamete is called /TR qH® 3R ATer JHD BT TRIYoT Hgarar

® Pollination / URTITUT

e Copulation / #YT

* Fertilisation / IO

® Sexual reproduction /ﬁﬁw CCG)

Correct Answer :-Fertilisation / 9=

29)
Question Stimulus :-

In humans, Sound signals are sent to the brain through the / qﬂiﬁﬁ, Tfy dbd F
ERT AR HI A o1 &

e Tympanum /ﬁﬁ'ﬂT (153 oihf
® Quter ear / 9T o

* Middle ear / A& &HUI

® Innerear/ 3fid HUf

Correct Answer :-Inner ear / a3 Ul

30)
Question Stimulus :-

Evaluate cos 38° cos 52° - sin 38° sin 52° / cos 38° cos 52° - sin 38° sin 52° &T HF A®g
* 1

e 0
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® tan 38°

® sin 52°

Correct Answer :-0

(43)



